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%16 7 | Because he was very 1ll.
4| He has become World Heavyweight Champion three times.
v | He was 54 years old.
L |1 T 2 A 3 7 4 v 5 A 3H X5
[ 2 A 5 B 3 2/ X 2
[#13 1 sleepy 2 sunlight 2 X4
3 body 4 day
4 | R 25
1 Speaking English well is difficult for Japanese
2 My mother drinks tea made in England every morning.
3 |My parents have taken good care of my son for six years.

4 My sister asked me to teach her how to use

the computer.

1 [I'm sorry but I have to do my homework in the morning

2 |Can we meet in front of the station

at three in the afternoon?

will start at three thirty

3 |The movie

4 |Let's eat something after the movie




	第１回

